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Propensity Score and Matching Homework

1. The data in JTRAIN2 are from a job training experiment.  The goal is to determine the average treatment effect from participation in the training program.  The notation that we will use is: The variable "earn78" are real earnings in 1978, measured in thousands of dollars.  The variable w is an indicator to show participation in the training program.  The vector X includes age (A) and its square, real earnings (earn) in 1974 and 1975, a high school graduation dummy (HS), a dummy for marital status (M), and dummies for black (B) and Hispanic (His).  
a. Compute the average of earn78 for those who get training and for those who do not get training. Is the difference between the means different from zero?
b. Repeat question a., but do the training and not training means for HS grad (or not), marital status, and race.
c.1. Estimate the propensity function as a linear probability model and save the fitted values of w, we'll call them 
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c.2. Estimate propensity functions using the same RHS variables, but use logit and probit.  Save the fitted values for w in both cases, we'll call them 
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d.  Estimate the unknown coefficients of the regression:
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e. Using the fitted propensities estimate the unkowns in the following two equations:
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You will have six sets of coefficient estimates.

f. Compare and contrast the different results that you got for the treatment effect across the many models of this exercise.

2. In class we reviewed the paper by Buck, Friedman and Dunkelberg about small business loans.  In that paper there was a variable on the RHS that was a dummy variable for whether or not the firm's last loan application was accepted.  Since that variable was likely to be correlated with the error term it was replaced by Heckman's λ.  How does this approach differ in substance and interpretation from the Average Treatment Effect approach that you used in question 1?    

_1347449510.unknown

_1347449565.unknown

_1347449683.unknown

_1347449556.unknown

_1347436077.unknown

_1347448809.unknown

_1347435582.unknown

